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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
SCIENCE

Discovered by its namesake American physicist in 1879, it has quantum and anomalous versions.  It can be used to measure magnetic fields, to make electronic compasses, and to manage energy use in solar cars.  Name this effect that refers to the potential difference on opposite sides of an electrical conductor through which an electric current is flowing, created by a magnetic field applied perpendicular to the current.

ANSWER: Hall effect

TOSSUP 2
SCIENCE

Its wet form affects the heart and weakens capillary walls; its dry form causes wasting and peripheral nerve damage.  Its symptoms include weight loss, edema, weakness and pain in limbs, and irregular heart rate.  It is a rare side effect of gastric bypass surgery and is often seen in people who mainly eat white rice.  Name this disease caused by a deficiency of thiamine.

ANSWER: beriberi
TOSSUP 3
SOCIAL STUDIES

Garibald I was this duchy’s first duke. The Wittelsbach family ruled it between 1180 and 1918. After Napoleon abolished the Holy Roman Empire, it became a kingdom. Ludwig II, who ruled between 1864 and 1886, built palaces including Neuschwanstein (noy-shvan-stine). It tried to form a ‘South German Confederation’ to balance Prussia and Austria. Munich is the capital of what largest, by area, of today’s German states? 

ANSWER: Bavaria or Bayern
TOSSUP 4
SOCIAL STUDIES

She supervised the search for Union missing during the Civil War’s aftermath. She is better-known for setting up an organization at first thought unnecessary, as surely a disaster like the Civil War would not happen again. However, she prevailed on James Garfield by arguing that it could be used to help in any disaster zone. Who was the founder of the American Red Cross? 

ANSWER: Clara Barton
TOSSUP 5
MATH

THIS IS A COMPUTATION QUESTION. What is the area of a square with an inscribed circle of circumference 28 pi meters?

ANSWER: 784 square meters
TOSSUP 6
SCIENCE

These two features on the Earth are not antipodal - you cannot draw a straight line from one and get to the other.  The Northern one lies in northern Canada and is rapidly approaching Siberia, while the Southern one is outside the Antarctic circle.  What are these two points on the Earth, the actual location of where a compass points rather than to true north or south?

ANSWER: Magnetic Poles (Do not accept or prompt on “Pole(s)”)

TOSSUP 7
MATH

THIS IS A COMPUTATION QUESTION. What is the sum of the numbers from 1 to 10?

ANSWER: 55
TOSSUP 8
LITERATURE

Sharing a name with the owner of the Los Angeles Dodgers, he appears in the stage play A Couple of Blaguards with his brother Malachy. A 1958 graduate of Brooklyn College, he taught English at McKee High School and Stuyvesant High School before turning to writing. Who has written ‘Tis and Teacher Man as sequels to his childhood memoir, Angela’s Ashes? 

ANSWER: Frank McCourt
TOSSUP 9
MISCELLANEOUS

Two theories are given for her evil: one is that her niceness didn’t show up for work, and the other states that an evil parasite lives in her rear end. She has a dog named Doidle that she pampers, and a sister named Tootie that she terrorizes. Butch Hartmann said he created her role to have a villain that is always around Timmy Turner. Who is the evil babysitter in The Fairly Odd Parents? 

ANSWER: Vicky the Babysitter

TOSSUP 10
SOCIAL STUDIES

After the murder of Valentinian II and the defeat of Eugenius, he became the last emperor of a unified Roman Empire. After being excommunicated by Saint Ambrose, he conducted public penance. Who destroyed Alexandria’s Serapeum, put out the fire the Vestal Virgins guarded, outlawed hieroglyphics, ended the Olympics, and did what he could to suppress paganism and promote Christianity? 

ANSWER: (Flavius) Theodosius I (the Great)

TOSSUP 11
FINE ARTS

It contains 92 metopes (meh-toh-peez) and two pediments. It served alternately as treasury for the Delian League, a Christian church, and then a mosque. In 1806, Lord Elgin took some of its statues, although its giant statue of Athena was probably taken and later destroyed during the 1204 sack of Constantinople. What is this temple to Athena located on the Acropolis? 

ANSWER: Parthenon
TOSSUP 12
MATH

THIS IS A COMPUTATION QUESTION. What is the probability in lowest terms of rolling a 10 or higher on a fair pair of dice, given that there is a 1/12 chance of rolling a 10, a 1/18 chance of rolling an 11, and a 1/36 chance of rolling a 12?

ANSWER: 1/6
TOSSUP 13
LITERATURE

He was born on September 22 in the 2890 of the Third Age. He spent his retirement in Rivendell, working on Translations from the Elvish and There and Back Again. He left the Shire forever on his eleventy-first birthday, leaving his most precious possession behind. Who helped defeat the dragon Smaug, and stole from Gollum the One Ring, leaving it in the hands of his first and second cousin Frodo?

ANSWER: Bilbo Baggins (prompt on “Baggins”)

TOSSUP 14
LITERATURE

A sequel to this novel, No Longer at Ease, is about the protagonist’s grandson, Obi. The protagonist was exiled to his mother’s village for seven years for accidentally killing someone. During the exile, white missionaries arrive in the Igbo’s territory. When the protagonist returns, he tries to start an unsuccessful rebellion and then commits suicide. The rise and fall of Okonkwo is the main plot of what novel by Chinua Achebe? 

ANSWER: Things Fall Apart
TOSSUP 15
LANGUAGE ARTS

It is the first name of a clock-dwelling Neighborhood of Make-Believe resident that was a Striped (stry-ped) Tiger. It is the first name of George Eliot’s title character Deronda. It is the full first name of the American composer Elfman. It comes to us from Hebrew words meaning, ‘God is my judge.’ Who had friends named Shadrach, Meshack, and Abednego, and is the title character of a Bible book? 

ANSWER: Daniel
Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
FINE ARTS

This hymn is also the name of a Hanukkah hymn, Ma’oz Tsur (mah-awk tsoor). It wants ‘the water and the blood / From Thy riven side which flowed’ to ‘be of sin the double cure.’ In 1763, Augustus Toplady took shelter in a storm, inspiring what hymn that requests of the title object, to ‘cleft for me’ and to ‘Let me hide myself in Thee’? 

ANSWER: “Rock of Ages”

BONUS 16
SOCIAL STUDIES

Given an African capital, name the country.

A. Khartoum


ANSWER: Sudan
B. Rabat


ANSWER: Morocco

C. Abuja


ANSWER: Nigeria

D. Luanda


ANSWER: Angola 

TOSSUP 17
SCIENCE

Conducted in January 1927, it used a Faraday box mounted on an arc to observe electrons scattered at different angles to form a diffraction pattern by a crystalline nickel target.  Name this experiment that confirmed the de Broglie hypothesis that particles such as electrons could act as waves.

ANSWER: Davisson-Germer experiment

BONUS 17
MATH 

THIS IS A COMPUTATION QUESTION. Solve the following fraction problems in simplest form.

A.
1/8 plus 3/10 plus 1/4.


ANSWER: 27/40
B.
3/5 times 5/9 times 2/7.

ANSWER: 2/21
C.
2/9 plus 1/3 minus 1/12.

ANSWER: 17/36
D.
1/5 times 1/6 times 5/8 times 2/3.
ANSWER: 1/72
TOSSUP 18
MATH

Its hyperbolic version is equal to one-half times the sum of e to the z plus e to the minus z, and its derivative is equal to the negative of the sine.  It is equal to 1 minus the fraction x squared over two factorial plus the fraction x to the fourth over four factorial, and so on.  Name this trigonometric function that for an acute angle in a right triangle is equal to the adjacent side over the hypotenuse.

ANSWER: cosine
BONUS 18
LANGUAGE ARTS

Name these words that have their origins in American sports folklore.

A.
This term originating in baseball after rainouts often is used to describe any situation where an event will have to be made up at another time.

ANSWER: Rain check

B.
This term for a desperation pass in football is often used to describe a situation where any last-ditch effort is made.

ANSWER: Hail Mary

C.
This term was used by CIA Director George Tenet in the leadup to the Iraq War meaning “a sure thing” – in basketball, it’s the act of throwing the ball through the hoop while grasping the rim.

ANSWER: Slam dunk (prompt on partial answer)

D.
Similar to “slam dunk,” the name of this sport common in church leagues is often used to refer to something that is excessively easy – maybe not unlike this quiz bowl question.

ANSWER: Softball

TOSSUP 19
SOCIAL STUDIES

An employee of the CIA, he was captured following a rigged presidential election and an invasion of his country by the first President Bush.  A federal court ruled in August 2007 that they would not block his extradition to France to face charges of money laundering.  Recently released from federal prison in Miami, what former general was de facto dictator of Panama?

ANSWER: Manuel Antonio Noriega Moreno

BONUS 19
MATH

THIS IS A COMPUTATION QUESTION. What are the perimeters of the following shapes?

A.
Square of area 2116 square feet.


ANSWER: 184 feet
B.
Rectangle of area 84 square feet and width 7 feet.
ANSWER: 38 feet
C.
Square of area 729 square feet.


ANSWER: 108 feet
D.
Rectangle of area 301 square feet and length 43 feet.  ANSWER: 100 feet
TOSSUP 20
SCIENCE

With a molecular formula of C5H9N3, this neurotransmitter is derived from decarboxylation of its namesake amino acid.  Found in mast cells or basophils, it plays a role in chemotaxis of white blood cells and modulating sleep.  Name this amine whose role in allergic reactions is countered by drugs such as Tavist or Benadryl.

ANSWER: histamine
BONUS 20
MISCELLANEOUS

Given a description of a business ownership model, name the type.

A. 
Under this type the owner has total and unlimited personal liability of the debts incurred by the business.


ANSWER: Sole Propietorship

B. 
Under this model several people called shareholders own the company which is lead by a board of directors.


ANSWER: Corporation

C. 
This type has two or more people sharing the personal liability of debts incurred by the business.


ANSWER: Partership
D.
This type of model has members instead of shareholders who share in the decision making process.


ANSWER: Cooperative

TOSSUP 21
LITERATURE

The title character is last seen as a ‘girl of the painted cohorts of the city.’ After her death, her drunken mother, Mary, says: ‘I’ll fergive her!’ The title character’s boyfriend left her after being seduced by Nellie. Her father, Mr. Johnson, and her baby brother Tommie die, leaving her dependent on her boyfriend, Pete. Jimmie, the title character’s brother, is the narrator of what novel by Stephen Crane? 

ANSWER: Maggie: A Girl of the Streets

BONUS 21
SCIENCE

Identify these scientists that worked in Africa. 

A.
Louis, Mary, and Richard were the members of what family that studied early hominids in Kenya’s Olduvai Gorge? 


ANSWER: Leakey
B.
Who wrote the book Gorillas in the Mist about her studies of gorillas?


ANSWER: Dian Fossey
C.
Who studied the social lives of chimpanzees in Gombe Stream National Park in Tanzania? 

ANSWER: Jane Goodall
D.
He oversaw scientists such as John Kirk as he crossed Africa in the 1860s and 1870s, and was tracked down by Henry Morton Stanley in 1869.


ANSWER: David Livingstone
TOSSUP 22
LITERATURE

His brother, Jack, became a doctor in Boston, and his sister, Alexandra, runs the family farm known as the ‘Landing.’ His wife died when his daughter was two; he brought in a Black maid, Calpurnia, to help. One of the most respected citizens of Maycomb, Alabama, is what lawyer that defends Tom Robinson while he raises Jem and Scout in To Kill a Mockingbird? 

ANSWER: Atticus Finch

BONUS 22
SOCIAL STUDIES

Identify these terms you might come across as you testify in court.

A.
Things like a dying man’s last words are exempt from what rule prohibiting you from testifying about what someone else said outside of court? 


ANSWER: hearsay
B.
What crime have you committed if, under oath, you tell something you know is untrue?


ANSWER: perjury
C.
If you are a psychologist, and you are asked to testify whether someone was mentally competent at the time of the trial, you are what type of witness?


ANSWER: expert witness

D.
If you are called up by the defendant’s attorney, and then offer testimony for the prosecution or are otherwise uncooperative, you can be labeled as what type of witness? 


ANSWER: hostile witness

TOSSUP 23
SOCIAL STUDIES

In a 1965 reform, any surpluses it had were added to the general fund. Ida May Fuller was the first living person to receive a check from it. Since its 1935 creation, it has expanded to include the self-employed and farm workers. It is the largest government program in the world, paying out nearly $500 billion annually in benefits. What New Deal program is best-known for the monthly checks given to the disabled and the elderly? 

ANSWER: Social Security
BONUS 23
SCIENCE

Answer these questions about kangaroos. 

A.
Kangaroos are related to what animal, which is essentially a ‘small kangaroo,’ that is also found in New Zealand and, after zoo escapes, in other areas? 


ANSWER: wallaby
B.
What term is not only used for a kangaroo’s offspring, but for any young marsupial?


ANSWER: joey
C.
The largest living marsupial in the world is what type of kangaroo, distinct from the Eastern and Western Greys?


ANSWER: Red kangaroo

D.
The closest thing the kangaroo has to a non-human predator is what wild dog of Australia, introduced a mere 5,000 years ago?


ANSWER: dingo
TOSSUP 24
MATH

THIS IS A COMPUTATION QUESTION. Convert 432 into a binary number.

ANSWER: 110110000
BONUS 24
LITERATURE

Name these Canterbury Tales.

A.
It involves three men who want to slay Death but die over treasure.


ANSWER: Pardoner’s Tale

B.
It involves Arcite, Emily, and Palamon.

ANSWER: Knight’s Tale

C.
Its main characters are John, Alison, Absolon, and Nicholas.

ANSWER: Miller’s Tale

D.
It is prefaced by the narrator’s discussion of her five husbands.

ANSWER: Wife of Bath’s Tale

TOSSUP 25
MISCELLANEOUS

As a US Attorney, this man was responsible for indictments of the Gambino crime family along with Michael Milken. In his first campaign for public office, he lost to David Dinkins, but then defeated him in 1993, becoming the first Republican mayor of his city in almost 40 years.  Alone in supporting Roe v. Wade is what Republican presidential hopeful, the 9/11 New York mayor during 9/11 who puts in all his sentences 9/11? 

ANSWER: Rudy Giuliani
BONUS 25
LITERATURE

Given an American author’s pseudonym, give the birth name – family name is sufficient.

A.
O. Henry

ANSWER: William Sydney Porter
B.
Silence Dogood
ANSWER: Benjamin Franklin
C.
Mark Twain

ANSWER: Samuel Langhorne Clemens
D.
Dr. Seuss

ANSWER: Theodore Geisel
HALFTIME
Third period: 15 toss-ups
TOSSUP 26
MATH

THIS IS A COMPUTATION QUESTION. If A equals one through Z equals 26, what is the numerical value of J times G times F?

ANSWER: 420
TOSSUP 27
SOCIAL STUDIES

Christopher Sholes, Carlos Glidden, and Samuel Soule made the first popular one of these. By 1895, a ‘visible’ type of these was made, allowing users to see what they were doing. A silent type made in the 1940s was unsuccessful, as was an improved interface made by August Dvorak. Smith-Corona and Olivetti continue to make what writing implements that have largely been replaced by word processors? 

ANSWER: typewriter(s)

TOSSUP 28
SCIENCE

The European species is Castor fiber and the North American species is Castor canadensis.  They live in riparian zones and their teeth never stop growing.  Name this furry semi-aquatic rodent that is the mascot of Oregon State University and is known for building houses called lodges and for building dams.

ANSWER: beaver
TOSSUP 29
LANGUAGE ARTS

What grammatical error occurs when two or more independent clauses are joined together without any punctuation or connecting word?

ANSWER: run-on or rambling sentence(s) (accept fused or blended)

TOSSUP 30
MISCELLANEOUS

The password JUSTIN BAILEY enabled you to see this game’s main character wearing a leotard instead of her usual armored suit. The title objects had to be frozen and then hit with five missiles to be killed. The armored suit helped her traverse the regions of Brinstar, Norfair, and Tourian and do battle with creatures such as Ridley and Craid. In what classic NES (spell it out) video game must Samus Aran destroy the Mother Brain? 

ANSWER: Metroid (do NOT accept anything other than “Metroid” except maybe “the first Metroid” or “the original Metroid.”)

TOSSUP 31
SOCIAL STUDIES

A preliminary hearing before a judge has replaced this group in about half the states. The Fifth Amendment requires one for federal cases in capital or otherwise infamous crimes. A ‘runaway’ one of these excludes the prosecutor and begins issuing subpoenas on its own accord. What group of varying size, but usually 23 people, issues indictments if there is enough evidence to go to trial? 

ANSWER: grand jury
TOSSUP 32
LITERATURE

This 1951 poem, written for the poet’s dying father, has a villanelle rhyming scheme. In 1989, John Cale set this poem to music, and performed it at the concert that celebrated the opening of Wales’ National Assembly. The lines ‘Old age should burn and rave at the close of day; / Rage, rage against the dying of the light,’ are from what poem by Dylan Thomas? 

ANSWER: “Do not go gentle into that good night”

TOSSUP 33
LITERATURE

It was followed by St. Peter giving a sermon which led to the conversion of three thousand. It was marked by a mighty rushing wind from Heaven, tongues of fire, and many present in the upper room speaking in tongues. It is also called Whitsun in the United Kingdom and its name comes from the Greek for ‘the fiftieth day.’ What Christian feast day celebrates the descent of the Holy Spirit on the early Christians? 

ANSWER: Pentecost (accept Whitsunday before it is said in the question)

TOSSUP 34
MATH

THIS IS A COMPUTATION QUESTION. What is i to the 333rd power?

ANSWER: i
TOSSUP 35
FINE ARTS

The first was 1885’s Hen, and the last was 1917’s Karelian Birch. Stalin sold some of them for as little as $500 to collectors in the West. Fifty-four of the sixty-eight were made for Tsars Alexander III and Nicholas II. What jewel-laden sculptures were made between 1885 and 1917, many of which were Easter presents?  

ANSWER: Fabergé egg(s)

TOSSUP 36
SCIENCE

Pioneers in its development include Johann Dobereiner, John Newlands, and Lothar Meyer.  Its arrangement is based on electron configuration, valence shell electrons, and atomic number.  Name this method of arranging the chemical elements developed by Dmitri Mendeleev.

ANSWER: periodic table
TOSSUP 37
MATH

THIS IS A COMPUTATION QUESTION. What is the degree measure of the fifth angle of a pentagon whose other four angles are 120 degrees, 85 degrees, 170 degrees, and 55 degrees?

ANSWER: 110 degrees

TOSSUP 38
SCIENCE

He wrote the letter “Cooling by Evaporation,” and was elected to the Royal Society in 1756 for his work with electricity, including differentiating its positive and negative forms. His many inventions include a flexible urinary catheter and bifocal glasses. What creator of the Pennsylvania Gazette and author of Poor Richard’s Almanac is depicted on the $100 bill? 

ANSWER: Benjamin Franklin
TOSSUP 39
LITERATURE

General James Wolfe said of this poem, he would have ‘rather written that poem than take Quebec tomorrow.’ It was probably begun in 1742 after the death of Jonathan Rogers, and finished in 1751. It is 128 lines, including a 12-line epitaph. The phrases ‘celestial fire,’ ‘kindred spirit,’ ‘the unlettered muse,’ and ‘far from the madding crowd’ are from what poem written by Thomas Gray? 

ANSWER: “Elegy Written in a Country Churchyard”

TOSSUP 40
SOCIAL STUDIES

These mountains are the easternmost part of the Allegheny Plateau, and are actually a plateau that has been eroded to look like mountains. Slide and Hunter are the only peaks over 4,000 feet. These mountains are home to the Borscht Belt, and were a popular getaway spot after World War II. What mountains are located between Albany and New York City? 

ANSWER: Catskill Mountains

Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
MATH

Sun announced that Java would be a standard part of this format, allowing for menu development using Java rather than pre-recorded images and tracks.  The dual-layer version will support up to 50 GB of data, and Sony announced that a player would be included in the Playstation 3 console.  What next-generation DVD format is named for the 405 nanometer wavelength laser it uses and is a competitor to the HD-DVD format?

ANSWER: Blu-ray
BONUS 41
FINE ARTS

Identify these sculptures from clues. 

A.
This most famous work of the Greek Myron has been lost, but every few years a Roman copy of this athletic statue will be found.


ANSWER: The Discus Thrower or Discobolus

B.
Another sculpture made on the island of Rhodes depicts what Trojan priest and his sons getting strangled by sea serpents? 


ANSWER: Laocoön (lah-ohk-oo-en)

C.
This third century BC statue depicts the goddess Nike without a head.


ANSWER: Winged Victory of Samothrace or Nike of Samothrace
D.
Phidias sculpted this Wonder of the Ancient World, a statue over 40 feet tall. Give the figure depicted and the location of the statue. 


ANSWER: Zeus at Olympia
TOSSUP 42
SCIENCE

It converts ammonia to urea, produces triglycerides, breaks down hemoglobin, stores glycogen, is capable of regeneration, and produces bile.  Name this four-lobed organ that is affected by diseases such as Wilson’s disease, Gilbert’s syndrome, hepatitis, and cirrhosis.

ANSWER: liver
BONUS 42
SOCIAL STUDIES

Identify these 1940s European leaders from clues.

A.
This former mayor of Cologne became the first Chancellor of West Germany. 


ANSWER: Konrad Adenauer
B.
He refused the Presidency of his country’s Fourth Republic because it didn’t have enough power. To prevent revolution, he agreed to lead the French Fifth Republic.


ANSWER: Charles de Gaulle
C.
He refused to enter Spain in World War II.


ANSWER: Francisco Franco
D.
This leader of the Yugoslav Partisans managed to keep his country together until his death in 1980.


ANSWER: Josip Broz Tito
TOSSUP 43
SOCIAL STUDIES

Written by James Madison, it was 15 resolutions presented by Edmund Randolph. It proposed a bicameral legislature whose makeup was dependent on population. William Paterson opposed it and presented an alternative where a unicameral legislature gave each state one vote. The Great Compromise was engineered between Paterson’s New Jersey plan and what other plan, named for the home state of James Madison? 

ANSWER: Virginia Plan

BONUS 43
LITERATURE

Identify these disciples of Jesus Christ.

A.
Early on in Acts, Matthias replaced him among the Twelve.


ANSWER: Judas Iscariot

B.
This disciple denied Jesus three times on the night before His execution.


ANSWER: Simon Peter or Cephas
C.
In chapter 20 of John, he asks to feel the wounds of the resurrected Jesus; otherwise, he just can’t be convinced.


ANSWER: Thomas Didymus

D.
This Apostle was a tax collector before being called by Christ.


ANSWER: Matthew
TOSSUP 44
LITERATURE

It is associated with a practice called taqiyya (tah-kee-yah), or concealing one’s religious beliefs if one’s life is in danger. The Druze (drooz) consider themselves part of this group whose three most numerous branches are the Zaidiyyah (zah-ee-dee-yah), Seveners, and Twelvers. All consider Muhammad’s cousin, Ali, to be the rightful caliph (kah-leef). Southern Iraq and Iran have the most members of what branch of Islam, a rival to Sunni? 

ANSWER: Shi’ite Islam or Shia Islam

BONUS 44
LITERATURE

Who wrote these works?

A.
Vanity Fair

ANSWER: William Makepeace Thackeray
B.
Persuasion

ANSWER: Jane Austen
C.
Moll Flanders

ANSWER: Daniel Defoe
D.
Lost Horizon

ANSWER: James Hilton
TOSSUP 45
SOCIAL STUDIES

Lakes located among them include Pangong Tso and Tsongmo. Their name comes from a Sanskrit word meaning ‘the abode of snow.’ Due to tectonic action, they are rising 5 millimeters a year, adding to the height of peaks such as Nanda Devi and Annapurna. What mountains separate the Indian subcontinent from the rest of Asia and contains Mount Everest? 

ANSWER: Himalaya(s) Mountains or Himalayan
BONUS 45
MISCELLANEOUS

Given the founder, name the fast food restaurant.

A. 
Ray Kroc


ANSWER: McDonalds

B. 
S. Truett Cathy

ANSWER: Chick-Fil-A

C. 
Steve Ells


ANSWER: Chipotle Mexican Grill

D. 
Dave Thomas


ANSWER: Wendy’s
TOSSUP 46
MISCELLANEOUS

In August 2007, he reported that a puppy had chewed on and ruined his law license – no big issue, as he had been forced out as Durham County’s District Attorney and was soon to be disbarred by the state of North Carolina. Who faced this punishment over his mishandling of the Duke University lacrosse rape case? 

ANSWER: Mike Nifong
BONUS 46
SOCIAL STUDIES

Identify the robber baron from clues. 

A.
He founded the Standard Oil Company.


ANSWER: John D. Rockefeller
B.
He retired from the steel business when J.P. Morgan bought him out in 1901.


ANSWER: Andrew Carnegie
C.
He made his money through the American Tobacco Company, formed a North Carolina electric company, and gave money to what was then Trinity College in Durham.


ANSWER: James Buchanan Duke
D.
This inventor of the sleeping car had a strike in his company town broken up by federal soldiers.


ANSWER: George M. Pullman
TOSSUP 47
LITERATURE

Its fictional creator was married to Bridget Saunders and was modeled after Jonathan Swift’s character, Isaac Bickerstaff. Characters such as Titan Leeds appeared in the annual editions that appeared between 1732 and 1758. What annual book not only contained a calendar and weather information, but proverbs such as ‘A penny saved is Twopence clear’ from its creator, Benjamin Franklin? 

ANSWER: Poor Richard’s Almanac
BONUS 47
SCIENCE 

Answer these questions about leaves.

A.
What type of non-flowering plant contains the frond type of leaf? 


ANSWER: fern(s)

B.
What organelles within leaf cells conduct photosynthesis?


ANSWER: chloroplast
C.
What are the tiny openings on the surface of the leaf, used for gas and water exchange? 


ANSWER: stoma or stomata
D.
The palisade and spongy layers are part of what tissue located beneath the epidermis of a leaf; as its name indicates, it is in the ‘middle’ of the leaf?


ANSWER: mesophyll
TOSSUP 48
MATH

THIS IS A COMPUTATION QUESTION. If A equals 26 and Z equals 1, what is the numerical value of G times T times Q, given that G equals 20, T equals 7, and Q equals 10?

ANSWER: 1400
BONUS 48
SCIENCE

The 2005 Atlantic hurricane season was the most active on record, with four storms reaching Category 5. Name those four storms.

ANSWER: Emily

Katrina

Rita

Wilma
TOSSUP 49
LANGUAGE ARTS

For a Latin adjective in the first and second declension, what is the ending used to form the adverb associated with that adjective, much as –ter (spell it out) is used to form adverbs from third declension adjectives? 

ANSWER: -e (accept long e)

BONUS 49
MATH

THIS IS A COMPUTATION QUESTION. Convert the following base 8 numbers into decimal numbers.

A.
23.

ANSWER: 19
B.
105.

ANSWER: 69
C.
317.

ANSWER: 207
D.
45.

ANSWER: 37
TOSSUP 50
SCIENCE

Discovered in 1826, its name comes from the Greek for stench and it is the only nonmetal that is a liquid at room temperature.  The U.S. and Israel are the primary producers of this element with average atomic mass of 79.9 and atomic number 35.  Name this halogen that has chemical symbol Br.

ANSWER: bromine
BONUS 50
MATH

Solve the following for x.

A.
3x minus 10 equals x plus 2.

ANSWER: x equals 6
B.
4x minus 8 equals 2x plus 14.

ANSWER: x equals 11
C.
3x plus 20 equals 5x plus 28.

ANSWER: x equals -4
D.
7x minus 4 equals 3x minus 16.
ANSWER: x equals -3
END OF MATCH

Spare questions
TOSSUP 51
LANGUAGE ARTS

It is the most commonly given last name of the notorious pirate Blackbeard. It comes from an Old English word meaning ‘to show’ or ‘to point out.’ What word is most often used to an activity many adults perform in a school building, involving the imparting of knowledge to students?

ANSWER: teach

BONUS 51
MATH

x86 (read as: ‘x eighty-six’) assembly language is the backbone to all 32 bit Intel processors. Given what is to be done, give the command in x86 language to carry out that statement.

A.
Jump



ANSWER: JMP
B. 
Move



ANSWER: MOV

C. 
Two's complement negation
ANSWER: NEG

D. 
Exclusive Or


ANSWER: XOR

TOSSUP 52
SOCIAL STUDIES

Eric Ives called her ‘the most influential queen consort England has ever had.’ She believed the Pope had no authority and that the monarch should be the church leader. She did have an interest, as the Pope prevented her from marrying her intended. However, when only Elizabeth was born, her marriage ended. Witchcraft, adultery, and incest were the crimes supposedly committed by what second wife of Henry VIII? 

ANSWER: Anne Boelyn
BONUS 52
SOCIAL STUDIES

Answer these questions about the year 1985 in American history. 

A.
Who was Vice-President of the United States?


ANSWER: George Herbert Walker Bush
B.
In Geneva, President Reagan met with what Soviet leader for the first of several summits?


ANSWER: Mikhail Gorbachev
C.
This road that ran from Chicago to Los Angeles was officially decommissioned. 


ANSWER: Route 66
D.
This nuclear missile, technically known as the LGM-118A Peacekeeper, was undergoing testing.


ANSWER: MX
TOSSUP 53
MATH

THIS IS A COMPUTATION QUESTION. Solve for x.  12x minus 54 equals 5x plus 65, which is equivalent to the equation 7x minus 119 equals zero.

ANSWER: x equals 17
BONUS 53
MISCELLANEOUS

Identify these failed sports leagues.

A.
Dr. J and Moses Malone played in what league whose successful teams included the San Antonio Spurs and New York Nets? 


ANSWER: American Basketball Association or ABA
B.
In 1985, this football league that played in the spring and summer folded. 


ANSWER: United States Football League or USFL
C.
The Edmonton Oilers joined the NHL after the collapse of what hockey league in 1979?


ANSWER: World Hockey Association or WHA
D.
The last attempt to form a major league in baseball was what short-lived league that played only in 1914 and 1915? 


ANSWER: Federal League

TOSSUP 54
FINE ARTS

Martin Scorsese said “… (H)e only existed on his records. He was pure legend.”

Little is known of his life, but he apparently married twice and died on August 16, 1938. On first hearing his solo guitar work, Keith Richards asked who was playing with him.  He had only one minor hit during his 27 years: “Terraplane Blues.”  King of the Delta Blues Singers was about what legendary blues guitarist? 

ANSWER: Robert Johnson
BONUS 54
LITERATURE

Name these works by Edgar Allan Poe from descriptions.

A.
The titular animal says only one word throughout the poem.

ANSWER: The Raven

B.
Minister D- left the title object “hidden in plain view” in this detective story featuring C. Auguste Dupin.

ANSWER: The Purloined Letter

C.
Even angels are jealous of the love the narrator shares with this title girl who died young.

ANSWER: Annabel Lee

D.
An unsettling eye drives the narrator to murder and eventually madness in this short story.

ANSWER: The Tell-Tale Heart

TOSSUP 55
SCIENCE

First formulated in the 1960s by James Lovelock, it has been referred to as “Earth System Science” and demonstrated in the computer simulation Daisyworld.  Evidence for it includes consistency in ocean salinity, atmospheric composition, and global surface temperature.  Name this ecological hypothesis of planetwide homeostasis named after a Greek earth goddess.

ANSWER: Gaia hypothesis

BONUS 55
SCIENCE

Consider the phosphate ion.

A. 
What is its chemical formula, not including its oxidation state?

ANSWER: PO43- [P-O-4] 
B. 
What is its oxidation state? You must give the sign.

ANSWER: 3 minus or -3 [do not prompt on “3”]

C. 
What is its geometry?

ANSWER: tetrahedral [accept word forms]

D. 
The phosphate ion exhibits this phenomenon, in which the four phosphorus-oxygen bonds are identical, and intermediate in strength between a single bond and a double bond.

ANSWER: resonance [accept word forms]

TOSSUP 56
LITERATURE

At the end of this poem, the ‘Black-robe chief’ tells the other characters ‘of the Virgin Mary / And her blessed Son, the Saviour.’ The title character sails west in his canoe and disappears. Written in the same meter as the Kalevala, it was described as ‘this Indian Edda.’ The title character marries Minnehaha in what epic poem by Henry Wadsworth Longfellow that starts, ‘By the shores of Gitchee Gumee’? 

ANSWER: The Song of Hiawatha
BONUS 56
FINE ARTS

Identify these 19th century songs.

A.
This 1862 song is also known as ‘Butterfield’s Lullaby’ or ‘Day Is Done,’ and often concludes funerals at Arlington National Cemetery. 


ANSWER: ‘Taps’

B.
In this Stephen Foster song, the singer ‘come from Alabama with a banjo on my knee.’


ANSWER: ‘O! Susanna’

C.
The title character of this song would ‘fly thro’ the air with the greatest of ease.’


ANSWER: ‘The Daring Young Man on the Flying Trapeze’

D.
In this song, ‘Me and Mamie O’Rourke / Tripped the light fantastic’ on the titular urban location. 


ANSWER: ‘The Sidewalks of New York’

TOSSUP 57
MISCELLANEOUS

Notably, it does not have ‘Corporation’ in its name, as Asa Griggs Chandler had abandoned the ‘Corporation’ in 1894. It used a formula devised by John Pemberton in 1886, and it is part of the Dow Jones 30. Its failures include 2007’s ‘Blak’ and 1985’s ‘New’ variety of its flagship product. In 1934, what company refused a chance to buy out its struggling rival, Pepsi-Cola? 

ANSWER: The Coca-Cola Company (accept ‘Corporation’ in place of Company, but prompt on ‘Coke’)

BONUS 57
LANGUAGE ARTS

Identify these languages of India.

Panini wrote the first known grammar of what language, which is regarded in India today in much the same way Europeans regard Latin? 


ANSWER: Sanskrit
What language is understood by some 950 million people and is the official language of India, along with English?


ANSWER: Hindi (accept Hindustani)

Kolkata, or Calcutta, speaks what language also spoken in Bangladesh?


ANSWER: Bengali
This language, very closely related to Hindi, is spoken in western India and is the official language of Pakistan.


ANSWER: Urdu
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